
 
 

 

#9855 12-Volt Amber Strobe Light 
 
 
 
 
 
 
 
 
 
 
 

PARTS LIST – ASSEMBLY INSTRUCTIONS 
 
 
 
 
 
 
 
 
 
 
 

IMPORTANT  
 

READ THIS MANUAL CAREFULLY AND KEEP FOR FUTURE REFERENCE 
 
 
 
 
 
 
 
 

 
 
 

98551017                                                                                                                                                                      1                 



 
 

2 

2 
5 

4 

7 

1 

8 
13 

3 

12 

10 11 

9 

9 

RED 

Figure 1 

Battery 



 

#9855 12-Volt Amber Strobe Light 
PART# QTY. KEY# DESCRIPTION 

11976 1 1 Strobe Light Assembly 

12067 1 5 13’ Corrugated Loom .35 

11977 1  Hardware Package (contents listed below) 

11748 1 2 10’ black wire w/ fuse and 2 terminals 

9858 1 3 26” white wire w/ 2 terminals 

9851 1 4 25” black wire w/ 1 terminal 

11563 1 6 Switch 

9854 1 7 Switch Bracket 

 788 1 8 1/4”-20 x 3/4” Hex Bolt 

 730 1 9 1/4” – 20 Locknut 

7334 3 10 #10-32 x 3/4” Phillips Screw 

3619 3 11 #10-32 Kep Nut 

9699 6 12 7 1/ 2” Cable Ties 

9860 1 13 Closed End Connector 

 
INSTALLATION 
 

Step 1; See Figure 2: 
Drill mounting holes. 
 
A.  Place the gasket on the rounded depression 
in the cab top. 

 
B.  Mark three holes for screws and the hole for 
the wire. 
 
C.  Drill 3/16” holes for the screws and wire. 
 
 
 
 
Step 2; See Figure 3 & 1: 
Install the Strobe fixture. 
 
A.  Replace the gasket on the top.  Place the 
light on the gasket running the wire through the 
holes and lining up the screw holes. 
 
B.  Secure the light to the top with the screws 
and nuts.   
 
C.  Use the closed end connector to fasten the 
red wire from the light to the 25” black wire. 
 
 

 

 
Figure 2 

 
Figure 3 

3 



 
 

 
Step 2; See Figure 3: 
Install Switch Bracket (7) and Switch (9). 

 
A.  Attach the Switch Bracket and the large ring 
on the White Wire to one of the tabs welded to 
the top frame of the cab with the 1/4” bolt and 
nut.   

 
B. Connect the other end of the White Wire to 
the Black wire from the light. 

 
C.  Install the switch onto the bracket. 

 
 
 
Step 3; See Figure 1:  
Install Wires 
 
A.  Make the wire connections as shown in 
Figure 1. 
 
B.  Connect the other end of the 60” black wire 
to the positive battery terminal. 
 

C. Cut a length of Loom long enough to cover 
the Wire.  Press the wires into the split along the 
side.  Secure in place with the cable ties 
provided. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4

 



                     
 

              

 
 
 
 
 
 

For Replacement Parts and Accessories Contact: 
 

Original Tractor Cab Co., Inc. 
P.O. Box 97 6849 W. Front St. 

Arlington, IN 46104 
Phone 765-663-2214 
Fax      765-663-2101 

Email   Sales@originalcab.com 
 

Visit us on the web to see our other products. 
www.originalcab.com 

 

Cabs for Lawn Tractors, Garden Tractors, Compact Tractors, Snow Blowers, Utility Vehicles 
 

Sunshades for Tractors, Mowers, & Utility Vehicles 
 
 

CAB WARRANTY APPLIES TO ACCESSORIES 
 
 

5 

mailto:Sales@originalcab.com
http://www.originalcab.com/

